< 00, > (M)

<opyp, > ()

<d @> (rad)
o
=
a1

o
[N

o
N

0 1 2 3
TP n (PCA to beamline)

< o cot(y) >

..................

o
W[

0 1 2 3

—=— DQM_mKkFit_TToriginal
—e— DQM_mkFit_TT_pL
—— DQM_mkFit_TT_pLW

100r

.........

.........

.........

.......

.......

.......

-

0 1 2 3

........

........

........

..........

..........

|8

-1

0 1 2 3
TP n (PCA to beamline)

<od,> (um)

14 e
b 4 A
[ ]4d Trttrte
; ; R
HI117 ¢ M N | | B
4

ARARTNA LA P P Y P P

VEE TR TEaEs

B

0 1 2 3

TP n (PCA to beamline)



	Contents
	Page 1


